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9.5-9.7 Review #1 Period:

#1, Expand: (a—i—b) .
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#2. Expan& and simplify: (21, 7&)3
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#3. Determine the coefficient of x°y° in the expansion of (2x - ¥ W‘ﬁ o A
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#4. How many distinguishable permutations can be made with the letters in the word INNOCENCE.
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#5. How many ways can you choose a president, vice president, and secretary from a group of 30 people?
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#6. A science club has 15 boys and 18 girls. How many ways can a 5 member leadership council be
formed from the members of this club if:
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(b) The leadership council must contain 2 boys and 3 girls? . ’ . e C3 - /‘,{.}5” o
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#7. A computer program is written which randomly generates an integer between 1 and 10, The program
is run twice and the two numbers it generates are added together. What is the probability that the sum of

the two numbers is 57 . | — 0™ f? o g0l
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7 #8. A box holds 12 white, 5 red, and 6 black marbles. If 2 marbles are drawn from the box without
replacement:
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(a) What is the probability that they will both be black? -ém il { = 0% j
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#9. A small business college has 800 seniors, 700 juniors, 900 sophomores, and 1200 freshman. If you
stand outside the door of the student union, what is the probability that the next student who leaves the
student union will be a junior? (

#10. A fruit merchant receives a shipping crate containing 30 peaches. The merchant doesn’t realize that
5 of the peaches are rotten. If the merchant randomly picks 10 peaches to fulfill an order, what is the

probablhty that exactly 2 of these peaches WIH be rotten'? L el [y
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#11, The probability that a student will pass their next math test is 85%, and the probability That they will
pass their next English test is 90%. What is the probability that they will pass their next math tes@mﬁ,
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#12. One hundred people were surveyed abut whlch airline they preferred. The results are shown in the

"y

table: .
American Southwest Other Airline Total
Men L 25 | (26). 7 58
Women \(16) | 21 5 42

Total \(dD / 47 12 T 100™

If a person is selected at random from these people:
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(a) What is the probability the person is male and preferred Southwest? (o "} .

(b) What is the probability the person is female given they preferred American?

\,,g\

_.-l-w-é” — (Bq QKB&

e

{

 #13. What is the probability that a number picked at random from this set will be odd? {1)2/3 4,6,8,0p
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Precalculus Name: _
9.5-9.7 Review #1 ' Period:

#1. Expand:  (a+ tb)4

#2. Expand and simplify: (26— 7c)3

#3. Determine the coefficient of x*y° in the expansion of (2x2 - y)9 )

#4. How many distinguishable permutations can be made with the letters in the word INNOCENCE.
#5. How many ways can you choose a president, vice president, and secretary from a group of 30 people?

#6. A science club has 15 boys and 18 girls. How many ways can a 5 member leadership council be
formed from the members of this club if; :

(a) There are no restrictions?

{b) The leadership council must contain 2 boys and 3 girls?

#7. A computer program is written which randomly generates an integer between 1 and 10. The program
is run twice and the two numbers it generates are added together. What is the probability that the sum of
~ the two numbers is 5?




#8. A box holds 12 white, 5 red, and 6 black marbles, If 2 marbles are drawn from the box without

replacement:

(2) What is the probability that they will both be black?

(b) What is the probability that they will be different colors?

#9. A small business college has 800 seniors, 700 juniors, 900 sophomores, and 1200 freshman. If you
stand outside the door of the student union, what is the probability that the next student who leaves the
student union will be a junior?

#10. A fruit merchant receives a shipping crate containing 30 peaches. The merchant doesn’t realize that
5 of the peaches are rotten. If the merchant randomly picks 10 peaches to fulfill an order, what is the

probability that exactly 2 of these 10 peaches will be rotten?

#11. The probability that a student will pass their next math test is 85%, and the probability that they will
pass their next English test is 90%. What is the probability that they will pass their next math test and not
pass their next English test?

#12. One hundred people were surveyed about which airline they preferred. The results are shown in the

table:
American Southwest Other Airline Total
Men 25 26 7 58
Women 16 21 5 42
Total 41 47 12 100

If a person is selected at random from these people:

(a) What is the probability the person is male and preferred Southwest?

(b) What is the probability the person is female given they preferred American?

#13. What is the probability that a number picked at random from this set will be odd?

{1,2,3,4,6,8,9}




